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8 (Va*+(20+3c)a+b*+3bc+2c*  (2)(b+c)d*+bcad*+(B*+bc+b+c)a+bic+bcd
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9 (1)p*+10pg+254 (29a*—24a+16 (3 + 20342 (4)4a*—25b* (5)a*—b" (6)p**—7*
(792 —4x'  (8)x*—3x—40  (9)’+5ab—6b"  (04x*+8xy+3y  Wp°d*—pg—12
Da'+4a"—21 136" +5xy—6y"  (4914a*+29¢—15  (15—15x%"+34xy—16

10 (D)5X={x+y)+zH(x+y)—z =(x+y) —2=x*+2xy+y*— 2
(2)5.5= {(2(17—()*]) {2a+c)+b} =(2a+c)—b*=4d*+4ac+c*—b*

(35K =A{("+1)—aHOP+ 1) o} = (P + 1) —x*=x'+ 220"+ 1—x'=x"+x*+1

(4)5-={y—(x—2)Hw+(x—2)} =)' — (x—2)’=x**—x+4x—4

(B5)5-R={(x+y)—4zH{(x+v)+z} =(x+v)*—3z(x+vy)— 4’ =x*+y*— 42>+ 2xy—3yz—3zx

6)5-X=1{2x—y)— 1}'( —y)—3}=(2x—v)*—4(2x—y)+3=4x*—4xy+3*—8x+4y+3

(15K ={(x+y)+ —(\+\) +6(x+y)+9=x+2xy+3*+6x+6y+9

8) 5 ={(a+ )17) ct=(a+2b)*—2c(a+2b)+F=a*+4b*+c*+4ab—4bc—2ca

(9)5-=1{("+x)—2 =(x*+x)"—4(x* +/\)+4 x'+2x*—3x*—4x+4

105X =(x"—9) (x*+9)=x'—81 W5RK= '——1)(p —9)=p'—10p*+9

15.=a(a—3)(a—1)(a—2)=(a"—3a) (@’*—3a+2)=(a’—3a) {(i"—3a)+2} =(a*—3a)*+2(a*—3a)
=a'—6a’+94"+24*—6a=a'—6a’+11a’—6a

5K =(x+1)(x+7) (x+3) (x+5)=(x*+8x+7) (x*+8x+15) = {(a’+8x) + 7 {(x*+8x) +15}
=("48x)* 422 (x*+8x) +105=x'+ 164"+ 64x*+ 222>+ 176x+105=x"'+16x*+86 x>+ 176 x +105
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(2)5-X=(2a—b)*—9*=(2a—b+3c) 2a—b—3¢)

(1
(
(1)535=(e+1)—x*=(a+x+1)(a—x+1)
(
(1

35K =9"— (y—2)'=Bx+y—2)Bx—y+2) (4 ;k (\*2) +2y(x+2)=(x+2)(x+2y+2)
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5K =ab*—ac’+bc*—ba'+ca*—cb*=—a* (b—c)+a(b*—c*)—be(b—c)
=—(b—c){d"—(b+c)atbct=—(b—c)(a—b)(a—c)=(a—b)(b—e¢)(c—a)
()5 =a’b—ab’+b'c—b+cfa—ca*=(b—c)d*— (b*— ) a+be(b—c)
=(b—c){ad*—(b+c)at+bct=(b—c)(a—b)(a—c)
Na+b=X B &, 5X=X"+10X+25=(X+5)\'=(a+b+5)>
2ty=X B &, GR=5X"—8X—4=(X—2)6X+2)=(x+y—2)(5x+5y+2)
B +dx=X &B<L &,
B =X*"—8X—48=(X+4)(X—
A’ —3x=X LB &,
B =3X"-10X—8=(X—4)(3X+2)=("—3x—4) (3x*—9x+2)=(x+1) (x —4) (3x*—9x+2)
( 115}3{1 =2+ (=y+5)x—(12*—y—6) =x*+(—y+5)x— (3y+2) (dy—3) =(x +3y+2) (x —4y+3)
G- =x"+ By +Dx+2v"+5y+3=2"+By+4)x+ (y+1) (2y+3) =(x+3+1) (x+2y+3)
(3)5-2 =24+ (5 +2)x + 3y +dy—4=2x*+(5y+2)x+ (v +2) (By—2) = (x+y+2) (2x+3y—2)
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12)=(*+4x+4) (P +4x—12) = (x+2)*(x +6) (x —2)
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G- =a'+10a°0°+ 250" —9a*b* = (a*+50*)*— (3ab)*= (a*+3ab+5b%) (a*—3ab+5b%)
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'''' P10
(15X =" ) —9="+9) (x*—9)=(x+3) (x—3) (x*+9)
(2)5-5=(x*)*—8x*+16=("—4)* *1(\+>>(\~>) =(x+2)*(x—2)*
(3)5- K=" —10"+9=(x"—1) (\'*9)*(\4—1)(\—1)(.\+3)(\~$)
(45X =(")"—29%*+100=("—4) (x*—25)=(x+2) (x —2) (x +5) (x—5)
(5)5X =3 —x*—2=(x" *1)(3\ '+2)=(x+1)(x—1)(3x*+2)
(6)5-3X =4 (x")*— 254"+ 36=(x* *4)(4\ —9)=(x+2)(x—2)(2x+3)(2x—3)
(15 =x"+16x"+64—16x"=(x*+8)*— (4x)*=(x*+4x+8) (x*—4x+8)
(2)5-KX=x"+2"+1—x"=(*+1) " —x’=(x*+x+1) (x*—x+1) g
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(4)5-
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23 (153X ={(a+2)(a—2)*=(a*—4)*=a’—12a"+48a’—64
2)5%={(x—1) (@*+x+1D}'=("—1)=x"—2x"+1
(3)5.3%=(a+b) (*—ab+1) (a—b) (&*+ab+ ") = (" +b*) (@’ —b°) = a’ — b°
4)5.5%={(a+b) (a—b)} (@' + &b+ b' ) ={(a*— ") (@' +a’b* 4+ b")} = (a° — b ) = a®*—2a°b°+ b "
(515X =("+1) (A —x*+1)=x"+1 '
6)5.3%=("—1) (6" +2*+1) (2*—4) = (x*—1) (x* —4) =x"—5x°+4
24 (1)(x+3)(x*—3x+9) (2)(x—4) (x*+4x+16) (3)(2x+1) (4x*—2x+1)
(4)(2a—3b) (4a*+6ab+9b")  (5)(xy—2) (V' +2xy+4)  (6)(2ab+5¢) (4a’b*—10abe+25¢%)
(53R = (e 1) 2= {(r-+ 1)+ 2HorH )2 (e + 1)+ 23 = (x+3) (2 +3)
(8) 5% =0a{(40)*—(3a)"t =a(4b—3a) (16b*+12ab+9a’)
25 (53R =r'—3 2% 24312 —2=(x—2)°

(BR) 5 =" —8— 6>+ 12x =(x—2) (&*+ 20 +4)—6x (x—2)=(x—2) (x*+2x+4—6x)
=(x—2)(x*—dx+4)=(x—2)*
2)(x+3)?*  (3)(2a+b)  (4)(3x—2v)°
26 (1)3ab(a+Db)
(2)d*+b°+c*—3abc=(a+b)*—3ab(a+b)+c*—3abc=(a+b)’+’—3ab(a+b+c)
={(a+b)+cH(a+b)*—(a+b)c+c* —3ab(a+b+c)
*((/er-FC)(a"’+2(zb*b3—ac—bCJrcszab):(a+b+c)(az-l—bi—I—cg——ab——bc—ca)
N5 R =2+ (—y)+(—22)° =3 (—y) (—22)=(x—y—22) (P+y*+ 42+ xy—2yz+2zx)
(4)5— R=2"+y*+(—1) =3y - (—1)=(x+y—1) (x*+3*—xy+x+y+1)
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1 (1)3A— ZB+C-Q(2\+\’+3N) 2(—3x+2y—2)+(x—3y—22)=13x—4y+9z
(2)5.X=2A—B—2C=22x+y+32)—(—3x+2y—2)—2(x—3y—2z)=5x+6y+11z
2 (D4’ +28xy+49y" (2)16a°0°—9¢*  (3)a’+24°—24a
(4)5J: {2x—(v—DH2x+(v—1)} =(2x)*—(v—1)’=4x*—y*+2y—1
(5)5-RX={(’+2a)—3H(d*+2a)—8} =(a*+2a)*—11 (d*+2a) + 24 =a*+4a*—Ta*—22a+ 24
(6)5- Iﬁ (=0 (a*+b") (' + b)) =(a'"—b") (a'+ b)) =a*—b°
(5K ={(x+1)(x—1) (P+1)’={(*—1) (x*+ 1)}’ =(x"—1)"=x"—2x"+1
(SH—J(*(\Jrl)(\—b)(\-I 2) (x—3)=(x*—5x—6) (x*—x—6)={(x*—6)—5xH{ (x*—6)—x}
= (x*—6)*—6x (x’—6) + 51’ =x"'—124"+ 36— 62+ 361+ 5x* = x"— 6x° —Tx*+ 36x + 36
8 (La(a+5)r  (2)(2x—3y)(5x+y)  (3)(3x+4y) (3x—4y) (9x*+16y*)
4)5X=("—4) (x*—9)=(x+2) (x—2) (x+3) (x—3)
(5)5-RK=>"—1)(x"+1)=("—1) (*+1) (x*+1)=(x+1) (x—1) (x*+1) (x*+1)
6) 5K =4"—4x+1—v"=(2x—1)"—*'=2x+y—1)(2x—y—1)
(NE5R=2(x—1)—(x—1)=(x—1) (x*—1)=(x—1)*(x+1)
B+x=X LB &,
5R=2X"—7X—30=(X—6)(2X+5)=(x*+x—6) (2" +2x+5) =(x+3) (x—2) (2x*+2x +5)
(9)V5-X=b(a"—2ab+b*)—c(a—b)=b(a—b)’—c(a—b)=(a—b) (ab—b*—c)
1053 =2+ By+1)x+ 2+ 5y—12=2"+(By+1D)x+ (v+4) (2y—3) =(x+y+4) (x +2y—3)
4 (127x°—108x*+144x—64
(25K ={(x+y) (FP—xy+y)P=(+»")=x"+3x°»*+3x’y’ +3°
(3)5-30=(x—1) (@P+x+1) (x—2) (&’ +2x+4)= (x*—1) (x*—8) =x*—9x*+8
(4558 = (o~ 1= {(x—1) (o +x-+ D= (x—1)*(*+x+1)*
(5)5-X=(*+0") (*—80") =(a+b) (a—2b) (a*— ab+b*) (a*+2ab+4b%)
(6)5-RK=a’—3-a*20+3-a- (20)*— (2b)*= (a—2b)*
5 (1)5R={—3—(+0)HP—3+4(+x) =" —3) 4+ 3 (x*+x) (x*—3) —4 (x*+x)*

=(x5—62*+9)+3 (x*+x'—34"—3x) —4 (' + 22°+27) = x5 4+-3x° — x! — 14x*— 13x*—9x +9

(25K =(a—0) Ix*—(a+b)x+abl +(b—c) > —(b+c)x+bct +(c—a) ¥ — (c+a)x+ca)

={(a—b)+(b—c)+(c—a)lx*—{(@— )+ (0*— )+ (F—a)}x+ab(a—b)+be(b—c)+calc—a)

=a’b—ab*+b’c—bc*+cla—ca’
¢ (V5X=042"+b+a(B*+2b+1)=0b(b*+2b+1)+a(b*+2b+1)=(b+a) (H*+2b-+1)

=(a+b)(b+1)*
(2)5-3=(b+c)(a+b)(a+c)+abc=(b+c) {@*+(b+c)a+bet +abe 1 ><b+(’—>(b+(')z
=(b+c)d®+1{(b+c)*+bcta+be(b+c) b+c bc — be

={a+(b+c)H(b+c)a+bct =(a+b+c)(ab+be+ca)

(b+c)*+bc

(357 =(x—3) (x+4) (x—1) (x+2)+16=(*+x—12) (F+x—2)+16 =T, Ptr=X LB L,

H5RX=(X—12)(X—2)+16=X*—14X+40=(X—4)(X—10)=(x*+x—4) (x*+x—10)
45X =94"424a"+16—164*=(3a*+4)"—16a’=(3a’*+4a+4) (3a*—4a+4)
%Ik: (y—x—2v+2)+(xy—2y—x+2)z=(y—2v—x+2) z+1)={(x—2)y—(x—2)} (z+1)
=(x—2)(y—1(z+1)
6)5X=a'"—2(0*"+ A+ (b*— )’ =a'—2(b*— D)’ + (b*— ) —4d*?
={a"— ("=} —(2ac)*=(d*+2ac +c —b") (& —2ac+c"—b%)
. ={(a+c)—b'H(a—c)—b}=(a+b+c)(a—b+c)(a+b—c)(a—b—¢c)
(Tx—y=X, y—z=Y, z2—x=Z LB &,
XY 42 —3XYZ=(X+Y+2) (X + Y+ 22— XY —YZ — —7X)
2T, X+YH+Z=0ThH o605, X+Y*+23=3XYZ » Y 31D,
v@mc:, (=)’ +(—2)*+(z—x)’=3(x—») (y—2) (z—x)
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6 (Vab=0 XV, |abl=ab, lal=a, |b|=0 %V, lallbl=ab WzIZ; XA 7D,

(2)ab=0 &V, labl=—ab, |al=—a, 1b|=b &V, lallbl=—ab Wz1Z, SXAHY LD,

(3)ab>0 & 1, |abl=ab, |al=—a, |b|=—>b XV, |allbl=ab W22, XY 7o,
7 a=0nk %, —a=0 Xo57T, lal=a=0=—a &b, Kby iro,

a<0DEE, lal=—a XV, E5295%0 7o,

(2a=z0 Dt %, lal=a £V, |la*=d a<0DEE, lal=—a XV, |al’=(—a)’=d
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